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(1) €38 sl 9l AL ©.
(2)  Alel sasyde-l Gualol 531 aslal.

uel Auondl, eqasll [adu, eldyuorl, yaut qaleiil.
AAAL 22l 20l L z A HedH s
8x + 20y < 480, 4x + 2y < 80, z = 2x + 5y
x>0,y>0.

2241
vl ALY AL U, dulBidls 2a3u Anndl.
z=x+2y Al 22didl HA €] HedH, oLl
X+y<9,x>2,y>3,2x+5y<36,x>0,y>0.

AleAAgelRAlL AHAUAL G3a-dl YAy Aldisl Ad Axenal.
Ay vel-l fd Gidl.

D, | D, | Dy | D, | yraél
0, 2 6 4 2 9
0, 4 3 71 3 11
0, 5 1 5 7 10
wee | 9| 8] 5] 8
29

qledAdsiRAl xR G3a-l aiadl d Auuodl.
BuR Q. 2 ((L)HL Ul AlRs Hie YadH slBis-l ddl Gsd Haal.

[yl axra Bsardl dolRauqsl Fld uxendl.
sqaal [Qhud agdy qed ad d Jld Ryl s
sIRIR
X Y Z

Al4 7 9
st B |10 12 19
C |14 22 30
241
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() (Rl xR0 A3l
(o) eqaall [bad Hedd yer Ay d Ad [y s

5101
X Y Z W
Als 13 3 8
st B |7 15 7 9
cCl9 19 4 20
D |11l 12 5 3

4. (M) AHAAL : w2l audR 4lRls, EMLV.
(e) Al el A A A58l 52U (a0 =0.7)

(1) d-a9, (2) -3 (3) elldal Rigid (4) darala-dl Rigid
S
el | A | Ay | Ay | Ay | Ay
S, |15 |10 |10 [20 |15
S, |10 |5 |5 |5 |10
S, |5 10 |15 |10 |10

x4
(@) 25 aRgrl usdr Bud T5 214 dael Bud T 8 . 4 dddl 9 T4 Ml WRd
531 asid dl sedl arg wledl Al ?
Hio| 1 2 3 4
deqladlL | 0.2 | 04 | 03 | 0.1
() el Rigldl gest dueal.

5. vieloroul YU (sl 6l 2Rl

(1) [Aya-dl amau Gsadl Add w4 9.
(3RNUr, AL, AY-OLR)

(2)  ASAAUASRAL AHUAL B3adl . Fld 4w .
(Aold, YA ks, wavpei-l)

(3) YUl 2dlul % [Q8- S otlddld el dd 58 .
(A5-21s, A, Sqaall)

4) slda Rglaviodl @R o,
(—o<o<o,0<a<],0<a< o)

(5)  llA-uniel ofdxut ol €.

VA ORON
(6) vt Al AnAL Gierll 2udvil Aaxi A4, Sl (2, 3, 4)
(7) z=10x + 10y Sqaal [aduaqal Yaut 2uAly--l usni B3d HedH

[Bud y3l ul .
((2,2),(2,3),(3,3)
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Instructions : (1) All questions carry equal marks.

1. (a)
(b)

(a)
(b)

2. (a)
(b)

(a)
(b)
3. (a)
(b)
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(2) Use of simple calculator is permissible.

Seat No. :

Explain : Objective function, Convex set, linear constraints.

Maximize z = 2x + Sy w.r.t. conditions 8x + 20y <480, 4x + 2y < 80, x>0, y > 0.

OR

Explain mathematical form of linear programming problem.

Maximize z = x + 2y w.r.t. conditions.

X+y<9,x>2,y>3,2x+5y<36,x>0,y>0.

Explain matrix minima method to solve T.P.
Solve by North West Corner rule.

D, | D, | Dy | Dy | Supply
0, 2 6 4 2 9
0, 4 3 7 3| 1
0, 5 1 5 7] 10
Demand | 9 | 8 | 5 | 8
OR

Explain Vogel’s method to solve transportation problem.

Solve by matrix minima method for matrix given in Q. 2 (b).

Explain the Hungarian method to solve assignment problem.

Solve assignment problem to minimize objective function.

Worker

X Y Z

A |4 7 9
Work B (10 12 19
C |14 22 30

OR

[Max. Marks : 70
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(a) Explain assignment problem. 7
(b) Solve assignment problem to maximize objective function. 7
Worker
X Y Z W
A 5 13 3 8
Work B 7 15 7 9
C 9 19 4 20
D |11 12 5 3
4. (a) Explain: Event, Pay-off matrix, E.M.V. 6
(b) Find best act by following methods. (ot = 0.7)
(1) Maxi-min. (2) Maxi-max (3) Horwich (4) Laplace 8
Act
Event | A | Ay | Ay | Ay | Ag
S, 15 10 |10 |20 |15
S, 10 =5 |5 |5 |10
S, 5 10 |15 |10 |10
OR
(a) Cost of item is ¥ 5and selling price is ¥ 8 unsold item can be return at ¥ 4.
How many units purchase ? 8
Demand | 1 2 3 4
Prob. 02 04| 03| 0.1
(b) Explain elements of decision theory. 6
5.  Fill in the blanks : (2 marks of each) 14
(1) Name of method of solving assignment problemis ____
(Hungarian, Laplace, Mini-max)
(2) Best method of solving Transportation Problemis ___
(Vogel, Matrix minima, North west corner)
(3) A function which is to be optimize in linear programming problemis
(many one, constant, objective)
(4) Range of o in Horwich principle is
(—o<o<o,0<a<],0<a< o)
(5 ___ isconvex set.
A O. Y1
(6) How many variable to solve linear programming problem in graphical method
_ . (2,34
(7) In the L.P. problem having o.f. z = 10x + 10y ______ solution will provide

AM-113

maximum value.
((2,2),(2,3),(3,3)




